Estimate 134652

Quotation Yacht Masters St Petersburg S78-108 – Glancy Fawcett (Part 1 of 3)					
Date Quotation Number Expiration Date Quotation Total	10 December 2021 134652 9 January 2022 £106,744.20	From To	PR Nautica Ltd. Eastern Hangar, Lawrence Road Plymouth, Devon PL9 9SJ GB Yacht Masters Saint- Petersburg		

Task	Rate	Qty	Amount
Oxford Pillow Case 50 x 90cm – Frette Tripolo Bourdon	£126.58	12	£1,518.96
Duvet Cover 260 x 220cm – Frette Tripolo Bourdon	£452.00	3	£1,356.00
Fitted Sheet 150 x 200 x TBC Shaped – Frette Tripolo Bourdon	£204.99	3	£614.97
Oxford Pillow Case 50 x 75cm – Frette Tripolo Bourdon	£105.57	4	£422.28
Duvet Cover 135 x 200cm – Frette Tripolo Bourdon	£316.71	2	£633.42
Fitted Sheet 90 x 100 x TBC Shaped – Frette Tripolo Bourdon	£180.90	2	£361.80

Oxford Pillow Case 50 x 90cm – Jesurum Andrea	£105.57	12	£1,266.84
Duvet Cover 260 x 220cm – Jesurum Andrea	£409.98	3	£1,229.94
	2103.30	5	
Fitted Sheet 150 x 200 x TBC Shaped – Jesurum Andrea	£146.57	3	£439.71
Oxford Pillow Case 50 x 75cm – Jesurum Andrea	£90.71	4	£362.84
Oxford Fillow Case 50 x 7 5cm - jesurum Andrea	£30.71	+	LJ02.04
Duvet Cover 135 x 200cm – Jesurum Andrea	£318.24	2	£636.48
Fitted Sheet 90 x 100 x TBC Shaped – Jesurum Andrea	£117.87	2	£235.74
	2117.07		2235.71
Oxford Pillow Case 50 x 90cm – Yves Delorme Triomphe	£42.53	12	£510.36
Duvet Cover 260 x 220cm – Yves Delorme Triomphe	£161.43	3	£484.29
Fitted Sheet 150 x 200 x TBC Shaped – Yves Delorme Triomphe	£117.87	3	£353.61
Oxford Pillow Case 50 x 75cm – Yves Delorme Triomphe	£38.44	4	£153.76
Duvet Cover 135 x 200cm – Yves Delorme Triomphe	£99.93	2	£199.86
Fitted Sheet 90 x 100 x TBC Shaped – Yves Delorme Triomphe	£115.31	2	£230.62
Oxford Pillow Case 50 x 90cm – Yves Delorme Athena	£54.00	12	£648.00

Duvet Cover 260 x 220cm – Yves Delorme Athena	£262.80	3	£788.40
Fitted Sheet 150 x 200 x TBC Shaped – Yves Delorme Athena	£153.00	3	£459.00
Oxford Pillow Case 50 x 75cm – Yves Delorme Athena	£51.00	4	£204.00
Duvet Cover 135 x 200cm – Yves Delorme Athena	£145.80	2	£291.60
Fitted Sheet 90 x 100 x TBC Shaped – Yves Delorme Athena	£145.20	2	£290.40
Oxford Pillow Case 50 x 90cm – GF Melbury	£100.96	12	£1,211.52
Duvet Cover 260 x 220cm – GF Melbury	£346.94	3	£1,040.82
Fitted Sheet 150 x 200 x TBC Shaped – GF Melbury	£148.10	3	£444.30
Oxford Pillow Case 50 x 75cm – GF Melbury	£59.45	4	£237.80
Duvet Cover 135 x 200cm – GF Melbury	£236.76	2	£473.52
Fitted Sheet 90 x 100 x TBC Shaped – GF Melbury	£120.94	2	£241.88
Oxford Pillow Case 50 x 90cm – GF Houghton	£116.33	12	£1,395.96
Duvet Cover 260 x 220cm – GF Houghton	£357.19	3	£1,071.57

Fitted Sheet 150 x 200 x TBC Shaped – GF Houghton	£148.10	3	£444.30
Oxford Pillow Case 50 x 75cm – GF Houghton	£102.49	4	£409.96
Duvet Cover 135 x 200cm – GF Houghton	£256.23	2	£512.46
Fitted Sheet 90 x 100 x TBC Shaped – GF Houghton	£120.94	2	£241.88
Oxford Pillow Case 50 x 90cm – GF Three Lines	£146.57	12	£1,758.84
Duvet Cover 260 x 220cm – GF Three Lines	£444.82	3	£1,334.46
Fitted Sheet 150 x 200 x TBC Shaped – GF Three Lines	£146.57	3	£439.71
Oxford Pillow Case 50 x 75cm – GF Three Lines	£126.58	4	£506.32
Duvet Cover 135 x 200cm – GF Three Lines	£316.71	2	£633.42
Fitted Sheet 90 x 100 x TBC Shaped – GF Three Lines	£117.87	2	£235.74
Pillow 50 x 75cm – Brinkhaus Climasoft	£74.40	4	£297.60
Pillow 50 x 90cm – Brinkhaus Climasoft	£89.40	12	£1,072.80
Duvet 7.5 Tog 260 x 220cm – Brinkhaus Climasoft	£235.20	3	£705.60

Duvet 7.5 Tog 135 x 200cm – Brinkhaus Climasoft	£111.00	2	£222.00
Pillow 50 x 75cm – Brinkhaus Exquisit	£72.60	4	£290.40
Pillow 50 x 90cm – Brinkhaus Exquisit	£163.20	12	£1,958.40
Duvet 5.5 Tog 260 x 220cm – Brinkhaus Exquisit	£180.60	3	£541.80
Duvet 5.5 Tog 135 x 200cm – Brinkhaus Exquisit	£98.40	2	£196.80
Pillow 50 x 75cm – Brinkhaus Arctic	£336.90	4	£1,347.60
Pillow 50 x 90cm – Brinkhaus Arctic	£411.00	12	£4,932.00
Duvet 8.5 Tog 260 x 220cm – Brinkhaus Arctic	£1,915.20	3	£5,745.60
Duvet 8.5 Tog 135 x 200cm – Brinkhaus Arctic	£894.60	2	£1,789.20
Face Cloth 30 x 30cm – GF Astley	£25.62	24	£614.88
Hand Towel 55 x 100cm – GF Astley	£66.62	24	£1,598.88
Bath Sheet 100 x 150cm – GF Astley	£166.04	24	£3,984.96
Bath Mat 80 x 50cm – GF Astley	£140.42	24	£3,370.08

Face Cloth 30 x 30cm – GF Windsor	£28.70	24	£688.80
	660 70	2.4	64 672 00
Hand Towel 55 x 100cm – GF Windsor	£69.70	24	£1,672.80
Bath Sheet 100 x 150cm – GF Windsor	£166.04	24	£3,984.96
Bath Mat 80 x 50cm – GF Windsor	£141.95	24	£3,406.80
Face Cloth 35 x 35cm – GF Three Lines	£25.11	24	£602.64
Hand Towel 50 x 100cm – GF Three Lines	£58.93	24	£1,414.32
Bath Sheet 100 x 150cm – GF Three Lines	£152.20	24	£3,652.80
Bath Sheet Foo X FSoenin Grinniee Lines	L132.20	27	LJ,052.00
Bath Mat 60 x 80cm – GF Three Lines	£158.35	24	£3,800.40
	6444.60	20	<u> </u>
Beach Towel 100 x 180cm – GF Piped Border	£444.60	20	£8,892.00
Beach Towel 100 x 180cm – GF Two Lines	£333.60	20	£6,672.00
Beach Towel 117 x 173 – Nouvelle Vage Impanema Waves	£166.04	20	£3,320.80
	5166.04	20	
Beach Towel 117 x 173 – Nouvelle Vage Midnight Regatta	£166.04	20	£3,320.80
Wooden Sculpture 80 x 40 x 8cm – Benoit Averly Bow	£2,398.87	1	£2,398.87
House Scaptare of X to X dem - Bendic Avery Bow	22,000.07		22,000,07

Candleholder Low Plum H32.5cm – Anna Torfs Tilo	£132.22	1	£132.22
Candleholder Low Clear H32.5cm – Anna Torfs Tilo	£120.94	1	£120.94
Candleholder Mid Plum H34.5cm – Anna Torfs Tilo	£132.22	1	£132.22
Candleholder High Plum H36.5cm – Anna Torfs Tilo	£185.00	1	£185.00
Candleholder High Clear H36.5cm – Anna Torfs Tilo	£169.63	1	£169.63
Small Tray Black 23.70 x 30 x 2cm – Gilles Caffier Free Form	£448.41	1	£448.41
Medium Tray Dark Brown 39 x 53 x 2.5cm – Gilles Caffier Free Form	£749.74	1	£749.74
Large Tray Dark Brown 50.5 x 62 x 3cm – Gilles Caffier Free Form	£974.20	1	£974.20
David Round 6 Coaster Set 12.5cm – Giobagnara	£134.27	1	£134.27
Cube Ready Tissue Box Cover 12 x 12 x 13.5cm – Giogabnara	£155.28	1	£155.28
Rectangular Ready Tissue Box Cover 24 x 12.5 x 7cm – Giogabnara	£155.28	1	£155.28
Cube Firenze Tissue Box Cover 15.5 x 15.5 x 14.5cm – Giogabnara	£277.25	1	£277.25
Rectangular Firenze Tissue Box Cover 28 x 17 x 8.5cm – Giogabnara	£295.69	1	£295.69

Jo Bin with Lid 25 x 25 x 37.5cm – Giogabnara	£305.94	1	£305.94
Oxford Pillow Case 50 x 90cm – GF Arley	£100.96	12	£1,211.52
Duvet Cover 260 x 220cm – GF Arley	£343.87	3	£1,031.61
Fitted Sheet 150 x 200 x TBC Shaped – GF Arley	£134.27	3	£402.81
Oxford Pillow Case 50 x 75cm – GF Arley	£87.63	4	£350.52
Duvet Cover 135 x 200cm – GF Arley	£236.76	2	£473.52
Fitted Sheet 90 x 100 x TBC Shaped – GF Arley	£107.11	2	£214.22
		Subtotal Total ?	£106,744.20 £106,744.20

🕙 https://prnautica.com 🛛 🖂 web@prnautica.com